YR18FE AHMRIRR

Sifz i EMBENER MmN R
404021 e it Bk B FHT B B #H B B B8 # B
T HEEKREEE | of 0 P - HIERIE T 0
2
FREEAESKREHAO (H19.331377) 18,437 A IREHOKXISEE i 0 TS (KFSES8, ) ot 3,050
HE A E B A D MHIIIIERE 198 A REHAD o | A 0 BEAS = 0
mrmEER e :
Geekconsen | 0 0 \oEgp ERTE it 0
8 B B _ %gg?—x\n@em A 0 SRS ~ 0
— RSB HOK B W}; e
SR m 191,714 i | 0 BHREE B fiiT 1
-— CADBED)
= Wi it 1,250,412 _ REHAD | A 0 Gl BT 0
p— . ; Tk | MEEETIKNES XD RRE - TR .
§17 5L LI ot 0 ERiEI=E= A 0
Eﬁﬁ (SBBKICHNDED)
2zt T 0 KA A 0 Gl i 1
e " A HEK IR e N
- THETAITL ot 57,122 REPKKEEE 0 SERSM A 0
zZott . 0 BEHRAD A 0 B T 0
— — IREESHEER B
N--) P = 479 o ennacn ot 0 SERSR A 0
BEEF  sppepe = 5 194 0S2°F¢ - IS5V FUBAD A 0 B T 0
BYDER
BELE (HER) n 67,494 SH LB CELEAD A 1,681 ggggﬂﬂ SEBES | A 0
MBIER (ThEIA) m 3,620 - BRI 17B5% BEPTEL AT 5 el EE 1
BP KEER
U MBAD A 13,414 \SEEt —BEIFHESIINER | BT T 0.0 SIS A 0
17} =N
p— RIS m mars | (B bEmmER B Ew 0 e e i 0
iR BEAD 563 2T R o 2 Eatizia -
oo A 63 —EPBIHSIINESR BT G0 0.0 SRS A 0
(-
FREINES t 5,288 mE A BT I hEE% EFTE fEiFT 0 F— BT fisi AT 2
— YK 1%
N A 0 N=h _memmoumn B e 0.0 sEman | A 0
(SN SE]
kB K —BEHASE | A 0 = Al %TE%% MBI T7hEE% EFTE AT 0 5 B T 2
v N -
= AD i A A 0 B RCn  —SEHESIIER &S e 0.0 sEBES | A 0
SR - I - . —
BIOIEE  _ysmmen | A 0 N L T 0 REEVS— B it |
BEHEAAD | A 4,100 M=b  _memmavms &R @ 0.0 srom B i 0
SEHOKKIEERE | nf 1,510,000 (R ISR  ThEIAIIheER EPTE AT 0 BROR SEBEN A 0
=n
REBKRIEER | of 1,250,000 o FIFHES | BN 17585 EPTER i 0 SR i 31
EREER
HERAWES | i 0 LI IAYA & 1 TEH - 2,138
Tokgz | AHTFKE FEERIEE | W 0 s MBERSD e 0.0 - THEIE nt 597,517
HEMEREEE | o 1,510,000 FB somm| mann I 0 ) =EELE ot 918,498
SHEZ
IREAMERISERE | nf 1,250,000 B HE®RDD % 0.0 " THIBERES I 0
&
REMERENAD | A 4,100 ZOMOES nt 0
IRTEKERERAD | A 2,728




